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Notice for the candidates appeared in written examination against Cultural
Quota in ‘Level-2’ for the year 2023-24 held on 23.03.2024.
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The provisional answers key to the questions for recruitment against
Cultural Quota for the year 2023-24 are published herewith against 50
objective type questions for information of the candidates who appeared in
the written examination held on 23.03.2024 at Annexure.

Candidate (s) who raise objections should mention their details in the
following proforma.

Name | Roll No. | Question No. | Answer Given | Your Option Source

In this regard, if any candidate has any objection to the provisional
answer key, they may intimate the same with proper reason and Justification
by 28.03.2024 in email ID rrcbbs.org.in@gmail.com by 18:00 hrs.

LY

(wafa/ ot i)
Chairperson/RRC(LA)
East Coast Railway, Bhubaneswar
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Hindi | English ; ARSS
L ar §Eu3t a 3R b FT UTARS FaT ¥ | whatis the product of two numbers aand | c)
S&T HCF ab)= 13, L % n b where HCF(a,b)= 13, LCM(a,b)= 663? 8619
(a.b) CM(a,b)= 6637 | 642 b)s1, c) 8619 , d) 8642
a) 642 , b) 51, c) 8619 , d) 8642
2. 10 RA=e, 25 @se, 15 Aae & 3faue | Three bells ring at interval of 10 min, b) 9:30
. VALY . 25min, 15min. If 3 bells rang together at
erg ufear ssrar ;
. ?11?[ %I_ afe 7:00 &t 3 7:00 hrs. then when will it ring together
afeal e gy s §1 AR F e U again
T §39T a)8:30 b)9:30 ¢)10:30 d)11:00
a) 8:30, b)9:30 , c) 10:30 , d) 11:00 o i
3. IR X, x+3,x+6,x+93Tx+ 12 If the arithmetic mean of x, x + 3,x+6,x+ | d) 4
sFOdT 9and x+12is10,thenx =7?
AT 108, AN x=? a)1 b)2 c)6 d)4
a)l b)2 c¢)6 d)4 o |
4. AOBC U 31 & forees ofiet e A(0, 3), AOBC is a rectangle whose three vertices b) 3v2
: : are A(0, 3), 0(0, 0) and B(3, 0). The length
0(0, 0) 3R B(3, 0) 1 3 RFT RIS E: | ¢ v dingonal is:
(@)5 (b)3v2 (c)3 (d)4 (a)5 (b)3v2 (c)3 (d)4
5. ﬁ"gp(l, 4) 3R Q(4, 0) F AT R A FATE? The distance between the point P(1,4) and | b)5
Q(4,0)is
(a)4 (b)5 (c)6 (d)3v3 (@4 (b)5 (6 (d)3v3 |
6. Wﬂﬂﬂwmzlsmgm The surface area of a cube is 216 cm? ,its d) 216
ST T e volume is cm3
? (a) 144 BHP (b) 196 BHE ) | ) 144 cm?b) 196 cm? ¢) 212 cm? d) 216
212 ¥#P (d) 216 {3 cm?
Vi m;ﬁ-awg—: Mode in Statistics is the: c)
e ey & a) middle most frequent value b) value value
a) AR E T b) Ic el appear least frequent c) value appear appear
FHTNAR @B AL ) {ea qal most often d) none of these most
sMFaRREELAE o FAIRS AL i
8. oF ga F Tt i e ras aay | A circle has a number of tangents equal to | d)
c o -9 Vo
(a)o (b)1 (c) 2 (d) Infinite Infinite
e ’
@0 (b)1 ()2 (d)3=d
9. qTe, JHTSRIOT 3x +y =22 FT &l (6, k) &, drk [ If (6, k) is a solution of the equation 3x +y = b)4
: T AT FAT 82 22 then, the value of k is:
(@)-4 (b)4 (c)3 (d)-3 (@)-4 ()4 (93 (d)-3
10. I cosd = 1/2 ¥ arcosecd FTE? If cosB = 1/2 then cosec B is : c) 2/v3
a)2 b)1/n3 c)2/v3  d)v3/2
a)2 b)iN3 o 2/v3  d)v3/2
11. AT T FT30a9€: 10,7, 4, ..., & 30th term of the Arithmetic Progression: c)-77
10,7,4, ..., is
(@) 97 (b) 77 (c) -77 (d) -87 (a) 97 (b) 77 (c) -77 (d) -87
12. Ife e FeateR @ N orEr i (—,m-g If the length of the shadow of a vertical a) 45°
- . pole is equal to its height , the angle of
ELED 3;alé & qOa ¢, A -‘T& 3 "é elevation of sun’s altitude is
FT Jeetdel PIOT FT 87 a)45° b) 60° ¢)30° d)75°
a)45° b) 60° ¢)30° d)75°
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Selection against Cultural Quota of the Recruitment Year 2023-24 for Level-2 post 23.03.2024

ar KOCHI &1 a1 fer@r Sieem?

a) MQEJK b)NQBJK ¢c)MQEML d)MYBIK

a)MQEJK b)NQBJK c)MQEML d)MYBIK

Hindi | English ' Ans
13. FIITST Y Tah HTAATHR AT 40 [T x 22 A rectangular sheet of paper A0cmx22cm |a)3.5
Bersid 'mm m a ,is rolled to form a hollow cylinder of
J a?f::;ﬂ A y height 40 cm. The radius of the cylinder (in
oA TR AT SATAT & | AT & | cm ) is
s (@A &) F=r e (a) 3.5 (b) 7 (c)80/7 (d) 5
(@)35 (b)7 (c)80/7 (d)5 i
o 176 M A Q0.7 e Asarara T | The number of revolutions made by a d)40
R garT af : circular wheel of radius 0.7 m inrolling a
{_ . QUL i distance of 176 m is: (a) 22 (b) 24 (0) 75 (d)
JEATHT§? 40
(a) 22 (b) 24 (c) 75 (d) 40
15. Sec? 45°-tan?45°=? Sec? 45°—tan245°=7? b) 1
a) 0 b)1 -1 d)v2 a0 bj1 -1 djv2 I
16. 6 1 AT F4T &, f5raas fT Cos (10° +6) = The value of 8 for which cos (10°+6)=sin | a)50°
2 30°%,is
S 6 :
a')"s‘:')? b?:0° gt (a) 50° (b) 40° (c) 80° (d) 20°
c o
17. | uep e amr & wfager 30 et frg@ra ae A boat goes 30 km upstream in 3 hrs %ZRm
y rereer 42 F e | and 42 km downstream in 3 hrs. Determine I
AR GRS T thxfm HEH the speed of the stream and that of the 12
FoaEE R U FGRT AR AGH | boat in still water? km/hr
1ty AT hIfSA? a)3 km/hr, 9km/hr b)2km/hr, 12km/hr c)
; ; : ? skm/hr, 12 km/hr d) 10 km/hr, 15km/hr
a) 3 fral/ger, o fF#i/ger b) 2 el aeT,
12 farafiy/eieT ¢) 5 frelt/eer, 12 fra/eeT d)
10 fpat/ere, 15 faraf e
18. smmﬁmmmw3aﬁﬁ A sum of Rs. 800 amounts to Rs. 920in 3 c) 5%
920 FTA A A g T iyr:atirrse: ::tr;p?le interest. What is the
a)2% b)3% c)5% d)7% a)2% b)3% c)5% d)7%
497 ng@ﬂmuoo g Hreg | Areaofa rectangular land is 1200 sqmtr. If |c)20
. ? . é length of the land is three times the width , | mtr
g 8@@[ @rzﬂm;ar%, ar what is width of the land?
S@ﬁﬂkré'm%‘? a)10 mtr b) 17 mtr  ¢)20 mtr d) 25 mtr
a) 10 #eX b) 17 #eX ¢) 20 A d) 25 FHIX
20. AT P F mﬁmmmm Find which number is wrong in the series: | b)10
§:1,4,1016,25 :ij'l%)l 5625 ¢)16 d) 25
a4 b)10 c¢)16 d)25
21. Ife vF FEATH 75% ,90 ¥ argEar Ad If 75% of number is 90,find the number. b) 120
| a)100 b) 120 c) 125 d) 150
a)100 b)120 c)125 d) 150
22. 7z 'NOIDA' #r 'PQKFC' far@r Sirar & | If'NOIDA"is coded as ‘PQKFC’ then KOCHI | a)MQE
will be coded as K
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Hindi English Ans
3. | prsrafaa ¥ e g e et & Fill witlh correct mathematical operators for | ) ++
: the following :
Y H: 21170147
210070 4=7 a)+,- b)-+ C)H* d)- x
a)+,- b+ o+ d-X e
22, | ®Ua L @0 FA AFATE, statement 1:All dogs are animals , c) only
el 2. 3’3 fafeeran fr’f? Statement 2: Some cats are dog 2
Illmlliil: o Conclusion:
L W“” Sl : 1.all animals are dogs
bl U?_ 2.Some cats are animals
3. ot TaTer fafearar & LOME,
4. mﬁﬁaﬁm% 3.All animals are cgts |
sﬂ'ﬁﬁm.m/a sy T e/e? 4.Some cats are animals :
a)&ac1b) 1R3¢ Faa2d) g;r#'\t?taﬂé which of the conclusion(s) are/is correct?
el a)only1 b)1 and 3 c)Only 2 d)None
of these
25. A Y Fill in the series b)20
36,11, _,37 3611,_,37
S ST a)23b) 20¢) 19d) 27
a)23b) 20 c)19d) 27
26. mﬁgm@rmmg—; Which of the .follou{ing pair is incorrect? c) :
Rzt b) AT Frear a)India: Delhi b) Sri Lanka: Colombo Pakista
a) AN lae b) : ¢) Pakistan: Lahore d)Bangladesh: Dhaka n:
) feRETer: SRR d) FFeer: SrehT Lahore
27 HATIIRTRASHIS forat g Amit travelled west ward 5 km , turned left | d)
£ ar st T £ z16 and travelled 3 km, turned right and 14km
, T A 5 REIRL travelled 9 km. He then travelled north 3
WQM?TW@TI fﬁr{agmﬁ km. How far was Amit from the starting
s R BT AR R | POt oW
; A a)3 km b) 5 km ¢)10 km d) 14 km
GRS faig & fehciet gy A
2) 3 e b) 5 T c) 10 foReT d) 14
R
28. A B fragaelC,B fATEID, cHrRargl |Als B's SiStEI;‘C is 5’5 mother. D is C’s father. | d)
3 i E is D ‘s mother. Then how is A rel
£ DAY AL AT A, DA P PR Helfelel £ B R IRRERTET Quls Argiated o ﬁ:’;‘:‘
a)mﬁ b) &Tar c¢) & d) grelr a)Grand Mother b) Grand Father c) ter
Daughter d) Grand Daughter
29. Wﬁ‘ﬁmmﬁmmb Santosh Trophy is a national tournament a)
. ; v for Footba
273 *mg b) T¥S a;mg\@c) a)Football for men b) Hockey for men ¢) Il for
W*ﬁm‘&’l’@’fd) Afyem3it & fATEA | Kho Kho for men d) Hockey for women men
30. 2023 ODI ﬁgamﬁmmmm Highest wicket taker in 2023 ODI world cup c)
deart was Moha
'aﬂm}? a)Ravichandran Ashwin b) mmed
a) g 3ifRaeT b) ArgrAg TS Mohammed Siraj Shami
¢) AIgFAE AHT [d) mm ¢) Mohammed Shami d) Jasprit
Bumrah
31 mgmmmmmaﬁ Which is not a Navaratna PSU? V‘—wg);;ﬂ
¥ a)Container Corporation of India Hindus
b)Engineers India Limited c) National tan J
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[ Hindi [ English Ans
a) FeaR AR Hiw f3arp) ganfaay Mineral Development Corporation d) Coppe
g%mmc) mmﬁmm Hindustan Copper Limited r_ :
o R st s

32. QT TG gI3T FAT 8?7 What is power house of a cell? c)

a) Fﬂﬁﬁ? b) 7iea YT ) m 3;?;:;:2[;32)360@ bodies c) hMC:;ZCri
d) @WW d) Endoplasmic reticulum a

33. mzﬁ!ﬁ%ﬂwﬁmm Salt Satyagraha led by Mahatma Gandhi a)1930
2)1930 b) 1934 ) 1919 d) 1932 3 EaHT 1| ;‘;‘;kzp'ace Bl pldis e 19 o

34. mqé'aa[@ma;ﬁmag? Alps mountain range Ioc'ated at 7 a)Euro

18) !{{‘N b) mmd md) — :‘)E;Irqoz:enzliiguth America c) Africa d) pe
ARET
35. | $Ra & vge safFed ST e gans g ofyp | First Electric Train ran in India at b)
a) mb) T_I;aéc) Md) AT a)Kolkata b) Mumbai c) Delhi d) Kochi 2/i1umb
36. qI¥h Aldd QT&T#M@%HTM%? How many bones are there in adult human a)206
R Rl 100 c) 218 :)ozzys?b) 303 ¢) 301 d) 218
37. Wmmmmwm Who got first Major Dhyan Chand Khel d?
e Ratna Award Viswa
a)Kapil Dev b) Abhinav Bindra c) Karnam nathan
a) ST 4a b) 3T &g o) FOTA Malleswari d) Viswanathan Anand Anand
Fooradl d) faRasres e
38. Rd THR & fpae 3§ How many organs are there in Indian b)3
92 b3 a4 o e
39. TEAT HF ea & IR eaaeqT A What is the position of Indian Economy in | b) 5
TAFFATE? a)3db) 5 c) 7f d) 8 ;",‘_;E!" a;)p;isenct; 70 d)gh
40. {#@ﬁmwuga;‘t;rmg? The nearest planet from Sun is a)Mer
) gf-l'b) Q.FF 0 Tt d) m a) m;:tc:,—ry b) Vgnus c)Mars d) cury
41. éﬂ&ﬁtﬁaﬁaﬁﬁmb Statue of Unity is situaFed in_ d)Guja
a) FERTSZ b) Bedl ¢) d) o Z)ll]\;laa::rashtra b) Delhi c) Rajasthan d) rat
42. mﬁmmmmm !.ightest noble gas available in atmosphere | b)Heli
Hl A &2 ;S)Hydrogen b) Helium c) Argon d) Neon 7
a) gTEaTae b) A c) 3 d) faarea
43. .WWWW ﬁ'ﬂﬁ?m ;)Theory of natural selection’ was proposed | b)Char
yEaTiad foham I AT a)yAristotIe b) Charles Darwin c) Johannes :§:Mi
a)3TF b) ATey 31fae ¢) el Hcaik d) | Kepler d) Leonardo Da Vinci n
foravaet ey o=

44. mmmaﬁzﬁﬁ‘fmg—; Alaknanda and Bhagirathi rivers meet at a)Devp

rayag
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Hindi TN English Ane
a) SAVATT  b)JARIST o) eRE@ER d) a) Devprayag b)Prayagraj c) Haridwar d) | )
FEYATT Rudraprayag
45. mmmwmmp National Animal of India is | d)Tiger
. i y i ;
a) IR b)ﬁ!ﬂTc)f{STd)aTH a) Lion b) Chita c) Rhinoceros d) Tiger
46. | ad TIAT] FSiT ANT & GEo The first Chairman of the Indian Atomic | ¢)
Energy Commission was Homi J
LT Fie A2 a)Meghnad Saha b) Vikram A Sarabhai c) Bhabh
a)RTAE e b) e T wRmeE o) Homi J Bhabha d) P C Roy a
gl o amerr d) O o T
47. Tsery M FEd canrT fo@r arar ar? | National Song was written by b)
Wiz 3R X i . % a)Rabindranath Tagore b)Bankim Chandra Banki
a) b) 3 a9 ¢) Chatterjee c) Sarojini Naidu d) Sri m
WIS a19g d) 4 3Rfer Aurobindo Chand
ra
Chatte
rjee
48. HRAT Wd & §a@ Far 78 g TTe] Highest river bridge in Indian railway ison | c)Chen
¥ 2 a)Jhelum b) Indus c) Chenab d) Tawi ab
a) $H b) Y c) RaE d) adr
49. FREOT QST Raw 8 FGT F1am & Kargil Vijay Diwas is celebrated on b)
27 July b) 26 July c) 28 Oct d) 12 Jun 26 July
a) 27 S[FTE b) 26 T c) 28 yEEw |2 MY P2 )
d) 12 S
50. ST EFIQET 313¢49c %angq:r a8 Which is not a computer output device ? d) Key
e F ; & SraTs a)Monitor b) Speaker c) Printer d)
a) b) c) d) Keyboard
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